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% 1321 9 0,2 - - - 10C3 52 10,604 2 17 20 190 2 IBCP| cToBOYPOBI WKIAHUKH 25 E(
ot
2 11321 11 0,3 - - - 10C3 111 0,60 1 30 40 400 2 {BCP| croBOypoBI LLKIAHHKH 20 §
g 132 12 1,9 - - - 10C3 91 10,60} 1a | 30 34 420 2 |BCP| cToBOypoOBi WIKiAHUKK 25 §
S [138] 3 5,2 - - - 9C31/13+bn 79 [0,65) la | 29 32 425 2 |BCP| croBOYypOBIi HIKIAHUKH 25 z
= P B
139 18} 8.3 - - - 10C3 66 10,70 | 1 24 28 358 2 |BCP| croBOYpOBI WKiqHUKH 20 §
o
140 1 34 - - - 10C3 91 10,651 1 29 34 420 2 |BCP| croOypoBi wkigHuku 20 g
140 13 | 5,1 - - - 9C31 43 66 0,751 la | 27 28 430 2 |BCP| crosOypoBi KigHHKH 25 i
1401 15| 35,5 - - - 10C3+]/13 96 10,401} la | 30 34 270 2 |BCP| croBOYpoBi WIKIZHHKA 25 .g‘
1411 1 33 - - - 10C3 86 0,70 1a | 29 32 450 2 |BCP| cToBOYpOBI WIKIAHHKH 20 ”
141 2 5,6 - - - 10C3+/13 86 10,60( 1 | 28 34 387 2 |BCP| cToBOYpOBi WIKITHUKH 25
141131 1,3 - - - 10C3 65 10,60 1 22 26 295 2 |BCP| cToBOYPOBI IIKiAHUKU 25
1411 151 0,2 - - - 10C3+bn 55 10,75 ta | 22 22 340 2 |BCP| cToBOYpPOBI LUKITHUKH 20
1414 17 1,2 - - - 10C3+/13 66 1055] 1 21 24 240 2 |BCP| cToBOYPORI WIKITHHKH 25
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1 213 4 5 6 7 8 9 10 | 11 12 13 14 151 16 17 18 19
1461 1 1.8 - - - 9C31bn+/13+0c¢ &1 10,60 1a | 30 34 380 2 IBCP| crTosOypoBi WKIAHKUKH 25
146 2 § 11,0 1 (1) 10,1 10,1 9C31 13+0c¢ 65 1080 1a | 25 28 400 2 |BCP| croBOypoBi WKIAHUKK 23 E
1511 2 3,9 - - - 10C3x+ 13 9 | 0,40 la | 30 38 280 2 |BCP} croBOypoBi WIKiAHUKK 23 §
Elé 151} 5 8,5 - - - 10C3 86 10,70 1 26 32 400 2 {BCP| croOypoBi IUKIAHUKY 18 E
; 1531 6 2,8 - - - 10C3+bn 44 1050 3 i1 14 80 2 |BCP| croBOypoBi WKiIHUKH 20 ‘:§
% 153 8 0,5 - - - 10C3+[13+bn 57 (0,851 1 21 24 380 2 |BCP} croBOypoBi WiKinHHUKH 25 =
§ 1531 9 1,6 - - - 10C3 81 10,70 | 1a | 28 34 450 2 |IBCP| croBOYypoBI LWKIJHHKH 20 g
Q =
5 153110 22 - - - 9C31bn+0c¢ 49 1080 | 1 20 22 300 2 |BCP| croBOypoBI LUKiIHUKH 18 2
3
= {154 2 0.8 - - - 10C3 50 10,70 | 19 22 260 2 |BCP| crToBOYpOBi LUKIIHUKH 17 15
154 3 1,4 - - - 10C3 50 10,60 2 17 18 190 2 {BCP| croeOypoBi WKigHHUKH 18 :
1541 4 3,9 - - - 10C3+]13 50 10,75 1 19 22 280 2 [BCP| crosbypoBi IKiiHUKH 22 Z
1571 9 9,1 - - - 10C3+/Tup+Jing 49 0,75 315 2 |BCP| croBOYypoOBI WIKIAHKUKHN 22
PA3ZOM 683,1

T.B.0. nupexTopa O.1. Xpomynsk

'é': d/‘{ ) Q;""s‘l'{"_‘(‘ii? ;-'f'r’ 2 0-*! (; ) p 0 Ky




